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FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

Part - III Time : 2 Hours

STATISTICS Cool-off time : 15 Minutes

Maximum : 60 Scores
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General Instructions to Candidates : \

There is a *Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

(ive equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 5 questions from 1 to 6. Each carries 2 scores. (5x2=10)
Construct percentage frequency table for the following data :

Age 5-10 | 10-15 | 15-20 | 20-25 | 25-30 | 30-35

No. of Students 6 8 18 14 6 3
(a) When all the values of a data are equal then the standard deviation would be

(b)

1)
(i 1 (i) -1
(i) 0 (iv) 2
In a set of values, highest value is 50 and the range is 24, what is the lowest value ? (1)
(iy 74 (i) 26

(i) 72 (iv) 58

The heights of students (in inches) is given below. Calculate quartile deviation of the

data ;

Heights | 55 | 54 | 57 | 67 | 60 | 61 | 38

The first four central moments of the distribution are 0, 9.2, —3.6 and 122. Calculate

coefticient of Kurtosis of the distribution and comment on the result.

IfP(A) = i P(B) = % and P(A and B) = é Find P(A U B).

)

Write any two situations where sampling survey is preferable to census.
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1 moed 6 alpo cansiandlel «goosslels 5 afEmaTIm QOMONAEI® .

2 capod alle.. (5x2=10)

96 @G99 BEHGTNHZ LHAOM ERYOINEIN a]Fld BYONISND,

510 [ 10-15 | 15-20 [ 20-25 | 25-30 | 30-35

oThully 11
> )5laaes 6 8 18 14 6 3
aJ)g-

(a) &0) woguilee! agep aflelesle EINAVIME BIME AIMIWIM.
@Ry dleao. (1)
(1 1 (i) -1
(i) 0 (iv) 2
(b) 80) &) afleiaglod apgape 9dmM oflel 50 9o, a1GlW] 24 9o @RYGIM.
BB afQale &i0amm allel agy@wosm ? (D)
() 74 (i) 26
(i) 72 (iv) 58

Sxlazms 9o mamlald ®iay manldleam). EpGINM 2IMOud AlGIlwIM.

o) llslend :

200 55 | 54 | 57T [ 67 | 60 | 61 | 38

80} allmesmanilan arysiaom 4 el aaand)egiem 0, 9.2, -3.6, 122 agamlal.
OIS BHACFIVIIU” 1)IMIB BeNea ISlen)d. @ElI0R CORIMA|SIOTNGW)o
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P(A) = %Qo P(B) = % o0 P(A and B) = % 9o @AM P(A U B) @arejaflslems.

aquomildd audeq) aqumdaumilemanddd @REGIAYMIW 2 AUMIBERENUB af)§ ).
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Answer any 6 questions from 7 to 13. Each carries 3 scores. (6 x3=18)

7. (a) Whois known as the father of Indian Statistics ? (1)
(i)  R.A.Fisher (ii) P.C. Mahalanobis
(iii) Karl Pearson (iv) Spearman
(b) Writ a short note on any one applied area of Statistics. (2)

8. (a) The pre-test with the questionnaire before conducting a survey is called
(1

(b) Distinguish between primary data and secondary data. Write any 4 points. (2)

9. Prepare a questionnaire regarding the travelling problems faced by school children.

10. In a cycle race competition, the speeds of 5 participants are 12 km/hr, 15 km/hr,
16 km/hr, 18 km/hr and 19 km/hr. Find the average speed.

11. The value of mean and mode of a frequency distribution are 50 and 45 respectively.

Find the median.

12, (a) Explain different types of Skewness. (2)
(b) For a symmetric distribution : (1)

i) B,=0 (i) B, <0

(i) B,>0 (iv) B, %0

13, Name three non-probability sampling methods.
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7. (2) mym qodladalem allmoal aryeoem ? (1)
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AW SHITND.

12. (a) ol ooodlenss um®add alludleclead. (2)
(b) &) mad® allmesanmonian : (1)

@  B,=0 (iiy B, <0
(i) B,>0 (iv) B, #0
13, 2)m UoICAILDIO (aIBB)IEM AOBUWEIUB af)§ 1B
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Answer any 5 questions from 14 to 19. Each carries 4 scores. (5x4=20)

14, There are 3 streams in a Higher Secondary School. Science, Commerce and
Humanities. Boys, girls and transgenders are studying with 3 different second

languages, Malayalam, Hindi and Sanskrit.
(1) Draw classicification sketch.

(11) Draw the skeleton of the table.

15. Draw suitable diagram for the following data :

Year | Sales (000) | Income (000) | Profit (000)

2000 100 30 10
2001 120 40 15
2002 130 45 25

16. Eleven students were given a test and the scores obtained by them are as follows :
8,7,6,9,1,3,10,8,4,7, 11

Represent the data using a box plot.

17.  The number of accidents occurred due to careless driving on a busy road during 7 days

in a week is reported below :

No. of accidents 8 10 6 7

Ln
I
[~

Determine mean deviation about mean.
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14. &0) aow@amuasaed avamdlec! M@MIY, O30easiv’ aopmMiglay’ agar
alleoemglad ae1008e, adladl, TLAVIme )M EaRIe @IAUBUWB alClasmnmm

@Y DG BB0, DaleMBd )G dB)0 (SOBAVHLMEW IV DETE.
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15, &y axadlesmm avogy GRMERILYAI0 ALW(Wo QIR

QAIBats [ afladalim (000) AIR)AMo (000) | ene. (000)

2000 100 30 10
2001 120 40 15
2002 130 45 25

16.  alslomomm &)5laBes Msomlw aidlasms cmomad 8,7,6,9, 1,3, 10, 8, 4,7,

11 agyamlaicoem gnale 60) eI ¢q 05 9a1¢@Ua] MU)a flo floma.
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oy¢ dlainuemgled elgea|syenileidlomamm; :

R

@OAIRHSHNZNS af)§MNo g 10| 6| 7] 5| 4
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18.  One card is drawn at random from a pack of 52 cards. Find the probability that

(1)

(i)

The card drawn 1s a king.

The card drawn is a red card.

(1i1) The card drawn is a black ace.

(iv) The card drawn is a club and queen.

19. A coffee shop has 3 coffee machines A, B and C. They produce 25%, 35% and 40% of

the coffee respectively. 3%, 2% and 3% of coffee dispensed by the machines are

defective. Then what 1s the probability that the coffee supplied to a customer 1s

defective ?

Answer any 2 questions from 20 to 22. Each carries 6 scores. 2x6=12)

20. Given below 1s the frequency distribution of ages of 70 persons in a colony. Draw a

greater than ogive and a less than ogive for the data :

Age 0-10 | 10-20 | 20-30 | 30-40 | 40-30 | 50-60
No. of Persons 5 11 27 19 5 3
21. (a) The distribution of sales (in numbers) of brand A toothpaste in a margin free shop

(b)
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in a town is given below. Find the mode of the distribution. (4)
Sales 0-10 [ 10-20 | 20-30 | 30-40 | 40-350 | 50 -60
No. of Days = 10 20 11 3 2

In a school there are 253 girls whose ages have a mean of 11.8 years. There are
312 boys whose ages have a mean of 12.3 years. Calculate the mean age of all

565 students. (2)



18.

19.

FY-432 9

52 @odav@edd eesele &0 onEglsd dlme 80) &3 @acadlemarl

Af)S}ONAM). af)BIG3 HIOY A1 NMNAKRES MVoRIGID) BaNe)allsles)d.
(D) oSO BHIBW GloU @RHYSM.
(i)  af)S)OT GHIBAL B0) 213N HOGAL BRYEM.

(iil) g)S)Om BHIAW B0 HOYOD ARV @RYEM.

(iv)  af)S)om OB B0) ganile dhilme Gy,
830} cddablcardaflad A, B, C agyim 3 cadadl o@adlmad oe. @) a2sklm)sud
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L - L (g ) i
(”cﬂ)cign[@ﬂm;m MUo@IQULD) a){HXIEM ?

20 moad 22 Ae0 calsiEnglal «gomsilele 2 agsRodlm’ DOMONAE IO .

6 ¢apod allwo. 2x6=12)

80y c30amleled moamilemam 70 ap@ames @RAlERila|gleoa ahales
C2l13OIBB®. GROIAM @RYERIanaM TLUARIGOAIODI Q@A GRAICNIAOGM
UER NG Q@00 QIO :

mm;gB'
ARBHBNS 5 11 27 19 5 3
ng)gpo

0-10 [ 10-20 [ 20-30 | 30-40 | 40-50 | 50-60

(a) &0 svarlec) &0} 20dedd (bleatoqflocs Enomdar A sEmeaIqlon

afleimoyes  allmosmacem  @oey  eafidlesm®.  eeGlam  cacaw
X0 AN | CSH ETap M 4
afgjm 0-10 | 10-20 | 20-30 | 30-40 | 40— 50 | 50— 60
AloInuEng)ns 4 10 20 11 3 2
DI

(b)  ®0) WHlad aiclammm 253 aalimagleains aqiland aowie 11.8 aidatals,
312 ayenaglegps amqilen 20w 123 aiBaane arsm. of@sloel
TRYHHWBH 565 HFLHB1OS mm;gqglmng @AWY HIN)D>. (2)
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22. Prices of a particular commodity in 5 years at two different cities in Kerala and

Karnataka are as follows :

I~
L
)
LN

23

o]
-]
o]
P

Karnataka (in )

[~
[
]
o

Kerala (in ) 25 23 30

Which state has stable price ? Justify your answer.
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22, canpomiloeiwp &danisaviaciwle 2 muosngled 80} 9miqjimenien 5

al@auemgloe] allel 2101605 @62 flBGlemmMey (o lar0a06m :

cﬂ)éa;.q}oscer 20 25 23 22 24
(@)n101@3)
CHDTo 22 26 25 23 30
(@)n101@3)
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MLIW B BIN D,
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